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Y = -2 b =G

2) Shoo  that  the  cure u = x( 'x—t) (x—2) haeo
. y=
a powﬁ of ;n_,daxx‘m ohich  w  not  a 5éal~imc9.
Po(ni:, Delermine its  nabore .. e does it go

/ or \ P

3) B curve  has ec;uafrm Y = 2+ ax*+ bx +C .
The curve  passes  through  bhe ori‘gm and has  a
pont of infliion  ab  the poink (], -3
a) Fiael the values of a,b and c

b) Find the etz,ucd‘/'@’l of the f‘aﬁ'j{nf o> e  crerve
ab bthe Ofﬁm :

L’r) f C‘ubic L ve has ef{fuaéroﬂ 5 = Ci’rdﬂt 511%1- Cx +d
~ and Passes  thr Os;gh the origin .
The curve  ha$ pofn-f of r“nfféxfon at ( Q,-'i??) :
The equation of the Eangen[' to  this curve
ot the origin iS y+ 3 =0

a) Bj joob‘\tﬁ ab  Hhe (:;r;_“ﬁ‘m shaw d=0
) By locking ab the tangert af He aggn shar =3

c) Deéermme H\e f’u/( ec;uaffm 0}3‘ ﬂie CUIVE .



